FRSEE AFHRER
BAOAZHR(FREER)

FH-ER GREE ZERE aE fEx
HRBEUER 8 8 6 1.3
FELHK 5 5 4 1.3
BEFH 45 44 22 2.0
BEREER 17 17 9 1.9
EEREEL 20 20 11 1.8
B EREUFR 4 4 4 1.0
a5t 99 98 56 1.8
BMAOAZHERGRET v DR)
FH-ER G ZERE aE fEx
HRBUER 7 7 5 1.4
FELER 5 5 4 1.3
BEFH 24 24 8 3.0
BPREER 11 11 5 2.2
EEREEL 7 7 3 2.3
BX ERELFR 6 6 5 1.2
At 60 60 30 2.0
W it HE A 2P S B
FH-EX HREE ZERE aRE B
HRBEAFEL 2 2 1 2.0
FELHEW 3 3 2 1.5
BEFH 13 13 5 2.6
BPREER 2 2 1 2.0
EEREEL 1 1 1 1.0
BX ERELFHR 2 2 2 1.0
=Xl 23 23 12 1.9
BHEEAPHER | HEER- B -FMRE- REFRFLHEESD)
FHE-EK HREE ZEBRE aRE EES
HREAFEL 17 17 15 1.1
FELHEK 10 10 8 1.3
BEFH 36 36 22 1.6
HPREER 21 21 12 1.8
EEREEL 18 18 11 1.6
BX EERELFR 26 26 24 1.1
=l 128 128 92 1.4
W A A ER 1T
FH-ER HREE ZEBRE aRE CES
HRBUAEFEL 0 0 0 —
FELEK 0 0 0 —
iE atias 10 10 5 2.0
HPEEER Z 4 1 4.0
EEREEL 3 3 1 3.0
BX - ERELFR 0 0 0 —
=i 17 17 7 2.4




B A FEEER T H(

AHZVVTAREBL)

PR EK THZ 2RE amE X
AR SR 47 43 33 13
FEHLEI 33 31 24 1.3
EETH 145 128 45 28
EE RS K 86 83 25 3.3
FERES K 68 64 20 3.2
BN EREILER 27 27 25 11
=1l 406 376 172 2.2
WA ER T
¥R EK THZ 2RE Az X
AR SR 3 3 3 1.0
FEHEK 4 4 3 1.3
EETH 30 25 5 5.0
HEEAFK 20 19 3 6.3
FZEEES K 14 13 3 4.3
A EREALER 1 1 0 —
&5t 72 65 17 38
WA SR T
R TRZ 2RE aRE =
HABI TR 3 3 7 15
FEHLEIK 1 1 1 1.0
EETH 11 10 5 2.0
BEEE SR 6 6 7 3.0
FEZRASR 1 4 7 2.0
G EREILEE 1 1 0 —
&5t 26 25 12 21
WA A Bt A SR A SRR | 8
PR BK ERE 2RE aWRE =
AR TR 25 25 15 17
FEHHEIK 22 22 15 15
EHTH 58 58 10 58
EEE SR 52 52 7 74
FEZERASR 35 35 7 5.0
GA EREILEE 15 5 13 12
=il 207 207 67 3.1
W A Bt A SHERF AT A SRR 1T
¥R BK EEE SRE aWRE fE=
AR ER 5 5 3 17
FELEK 4 4 2 2.0
EETH 1 1 0] #DIV/0!
BEYREER 5 5 1 5.0
FEREER 5 5 i 5.0
GA EREILEE 1 1 i 10
&5t 21 21 8 26




WA B A SBRFIMT A AR 2]
I sEE | mmE | Am= o
AR S 2 2 1 20
FELHK 1 1 0f #DIv/0!
FEFH 2 2 0f #DIv/0!
e PR 3 3 o[ _#Dv/0!
FEREEK 1 1 o[ _#Dv/0!
X BRI 2 2 2 10
a5t 11 11 3 3.7
WA LR A RET L BEEAFRE)
T sEE | wmE | Ak=E o
AR E K 0 0 0 —
FELER 0 0 0 -
EH 4 g 0 -
T P 3 2 0 -
FEREER 1 1 1 70
A ERIBHLET 5 5 5 0
At 13 12 6 2.0
WA B EIIEAS SFAE L)
R wEE | mmE | Ak= e
HARBUFTK 11 11 11 1.0
FELHEW 0 0 0 —
TEREREE T EFLFH 6 6 6 1.0
=Xl 17 17 17 1.0




